Soderkopings BS
Partavling 2022-11-02

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poéng % Namn MID Klubb

1 5 193 67.01 Bo Lennart Karlberg - Florence Strom 28571 56363 IFK Norrkdping

2 4 174 60.42 Goran Forss - Cathrine Haraldsson 809 67711 Norrkopingsbridgen - Finspangs BK

3 10 168 58.33 Helena Gustavsdotter - Gésta Windolf 45900 67970 Soderkdpings BS - Norrkdpingsbridgen

4 13 167 57.99 Per Malmstrom - Bengt Nilsson 33399 89389 IFK Norrkdping - Norrképingsbridgen

5 3 160 55.56 Torgny Andersson - Conny Kling 42578 6771 Valdemarsviks BK

6 11 146 50.69 Kerstin Nore - Solvig Carlsson 94342 29119 Soderkopings BS

7 1 142 49.31 Lars Lindvall - Sture Lindgvist 5658 6716 Soderkdpings BS

7 7 142 49.31 Sven Arne Hjalmarsson - Sylvia Andersson 17736 29030 Valdemarsviks BK - Soderkopings BS

9 14 139 48.26  Krister Lundblad - Ulla Hasselqgvist 29029 34460 Soderkopings BS .

10 12 131 45.49 Marianne Salomaa - Ing-Britt Rapp 66256 54060 Norrkopingsbridgen - Ostra Ryds BK

11 9 125 43.40 Leif Johansson - Monica Axmacher 13558 29026 Norrkdpingsbridgen - Valdemarsviks BK

12 6 124 43.06 Anita Bergenfors - Torbjérn Axman 52334 42580 Norrkdpingsbridgen - Ostra Ryds BK

13 8 113 39.24 Carina Lindqgvist - Ingmarie Jansson 29612 65701 Soderkdpings BS

14 2 92 31.94 Helén Harjaméki - Eva Klingspor 48589 85879 Norrkdpingsbridgen
1 Nord Ingen 2 Ost NS 3 Syd OV

Par Kontr ut Res Poéng Par Kontr ut Res Poéng Par Kontr Ut Res Poéang
13 1 24 S= vK 110 120 00| 4 6 44 O= v6 -130 120 00| 1 8 24 N+1 ¢+Q 140 9.0 3.0

9 10 3NV-1 v3 50 90 30| 2 5 3¢ 0+2 v2 -150 100 20| 3 6 34 N= ¢6 140 9.0 3.0
12 7 4v V-1 s A 50 90 30| 8 14 2NO+2 v2 -180 80 40| 4 12 34 N= ¢2 140 9.0 3.0

4 6 3#S-1 *J -50 6.0 6.0 9 10 5¢ O= a7 -400 50 7.0[10 11 34 N= ¢3 140 9.0 3.0

3 11 3¢ O+1 *2 -130 40 80|12 7 56 0= a7 -400 50 7.0[13 2 24 N= +Q 110 40 8.0

8 14 3v V+1 s A -170 20 10.0|13 1 54DO= &5 -550 20 100| 5 7 34 N-1 2 -50 2.0 10.0

2 5 3NV+2 v2 -460 0.0 12.0| 3 11 5vDN-3 +A -800 0.0 12.0| 9 14 3¢ V= *4 -110 0.0 12.0
4 Vast Alla 5 Nord NS 6 Ost OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

3 6 3NO-1 v3 100 100 20| 4 7 440+1 48 -150 11.0 1.0| 5 1 INN+2 43 150 12.0 0.0

5 7 3NO-1 v3 100 100 20|13 3 440+1 48 -150 11.0 10| 4 7 2v S+l ¢+K 140 100 2.0
10 11 3NO-1 v2 100 100 20| 2 9 540= 48 -400 6.0 6.0 6 8 2NN= 43 120 8.0 4.0

1 8 24V= vT -110 60 6.0 6 8 540+= 48 -400 6.0 6.0(14 10 INN= *7 90 6.0 6.0

4 12 3NV= *4 -600 20 10.0(11 12 54 0O-= 48 -400 6.0 6.0 2 9 4vN-1 -50 2.0 10.0

9 14 3NO= v9 -600 20 10.0|14 10 54DO= 4Q -550 20 10.0(11 12 3NN-1 aA -50 2.0 10.0
13 2 3NV= vT -600 20 100| 5 1 54DO+1 «Q -650 0.0 120|113 3 3vS-1 +K -50 2.0 10.0
7 Syd Alla 8 Vast Ingen 9 Nord OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

5 8 5¢ 0-3 «5 300 120 00| 6 2 3NO-1 *T 50 11.0 10| 4 11 44 N= ¢J 420 11.0 1.0
13 4 3NV-1 T 100 100 20| 7 9 5vVv-1 aT 50 11.0 10| 7 3 44 S= ¢A 420 11.0 1.0

6 2 3NO= 46 -600 6.0 6.0/ 3 10 3NO= *6 -400 80 40| 8 10 34 S+1 ¢A 170 7.0 50

7 9 3NV= v7 -600 60 6.0 5 8 3NO+1 *T -430 50 7.0|12 14 24 S+2 ¢A 170 70 50
14 11 3NO= v2 -600 60 6.0(12 1 3NO+1 v3 -430 50 70| 1 2 INS-1 v2 -50 30 90

3 10 3NO +1 v2 -630 10 11.0(14 11 3NO+2 *T -460 20 10.0|{13 5 44 S-1 3 -50 3.0 90
12 1 3NO+1 45 -630 10 11.0(13 4 3NO+3 *T -490 00 120| 6 9 44 N-2 vK -100 0.0 12.0
10 Ost Alla 11 Syd Ingen 12 Vast NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 14 3NO-1 v7 100 120 0.0|13 6 44 O0-3 vT 150 120 0.0|13 6 3NN+2 5 660 12.0 0.0

1 2 2vS-1 *4 -100 100 20| 5 12 2¢ N= +Q 110 100 2.0 9 11 3NS+1 46 630 100 2.0

6 9 24 O+1 43 -140 70 50| 1 14 3¢ V-2 vK 100 80 40| 5 12 5¢ S= v6 600 70 5.0

7 3 3aV= v8 -140 70 50| 7 10 3¢ V-1 vK 50 50 7.0| 7 10 3NN= v2 600 70 5.0

4 11 3NO= v7 -600 40 80| 9 11 24 O-1 vT 50 50 7.0| 8 4 34V-1 +8 50 40 8.0
13 5 44 O= &8 -620 20 10.0| 2 3 3vy N-2 +3 -100 10 110 1 14 3NS-1 LY -100 1.0 11.0

8 10 44 O+1 vA -650 0.0 120| 8 4 3vyN-2 +3 -100 10 110 2 3 5¢S-1 46 -100 1.0 110
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

3 4 3NS+1 vK 630 100 20| 6 1 3NS+3 v4 490 120 00|13 8 3NV-1 &3 50 120 0.0

6 1 3NS+1 vK 630 100 2.0|13 7 3NS+2 +8 460 100 20| 7 2 2NV= 49 -120 9.0 3.0
10 12 3NS+1 vK 630 100 2.0|10 12 3NS+1 48 430 80 40|10 6 INV+1 &4 -120 9.0 3.0
13 7 34DO-2 ¢K 500 6.0 6.0 3 4 5&4N= vJ 400 50 70| 9 12 INO+2 2 -150 6.0 6.0
14 2 34 N+1 48 130 40 80|14 2 5¢S= 4J 400 50 7.0|11 1 INV+3 a4 -180 40 8.0

8 11 3NN-1 46 -100 20 100 8 11 2¢ S+4 v4 170 20 10.0| 4 5 3NV= 3 -400 2.0 10.0

9 5 4vyDN-2 9 -500 0.0 120| 9 5 5&#N-1 v] -50 0.0 120|14 3 3NO+1 v3 -430 0.0 12.0
16 Vast OV 17 Nord Ingen 18 Ost NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

4 5 44 V= *T -620 80 40| 4 14 44 V-1 +J 50 11.0 10|12 2 INS+2 ¢A 150 12.0 0.0

7 2 44 V= *T -620 80 40|12 2 4a4V-1 vlJ 50 11.0 10| 5 6 24 N+1 vA 140 100 2.0

9 12 44 V= *T -620 80 40|10 1 340= v3 -140 80 40|11 7 24 N= vK 110 8.0 40
10 6 44 V= +K -620 80 40| 5 6 34V+1 vlJ -170 50 7.0[ 8 3 34 N-1 &K -100 40 8.0
11 1 44 V= «K -620 80 40|11 7 34 V+1 *J -170 50 7.0({10 1 34 N-1 vK -100 40 8.0
13 8 44 V+1 *T -650 10 11.0(13 9 44 0= +3 -420 20 10.0|13 9 34 S-1 v3 -100 40 8.0
14 3 44 V+1 &K -650 10 110 8 3 44 0+1 *A -450 0.0 120| 4 14 34 N-2 vK -200 0.0 12.0
19 Syd OV 20 Vast Alla 21 Nord NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 2 2v S+1 3 140 11.0 10|11 2 54DV-1 2 200 120 0.0|13 11 5&V-2 «Q 100 12.0 0.0
13 10 2v S+1 «3 140 11.0 10| 1 3 5aV-1 ¢+9 100 90 30| 1 9 54V-1 +Q 50 9.0 3.0

1 3 2vS= ¢6 110 70 50| 6 7 440-1 ¢A 100 90 30|14 6 4v V-1 ¢ A 50 9.0 3.0

5 14 1lv S+1 3 110 70 50[13 10 34 O= ¢ A -140 6.0 6.0 2 4 3a&V+1 ¢ A -130 6.0 6.0
12 8 3vsS-1 a2 -50 40 80| 5 14 5¢DS-1 46 -200 30 90| 7 8 54V= +Q -400 40 8.0

6 7 340+1 +Q -170 20 100| 9 4 5¢DS-1 46 -200 30 90|10 5 4vV+l 4Q -450 1.0 11.0
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9 4 4vyDS-3 &3 -500 0.0 12.0|12 8 44 0= ¢ A -620 00 120(12 3 4v O+1 +Q -450 1.0 110

22 Ost OV 23 Syd Alla 24 Vst Ingen
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 8 3aDV-2 ¢K 500 110 10|14 7 INDN= 3 180 120 00| 8 9 54 N+2 ¢+J 510 110 1.0
13 11 34DV-2 #J 500 11.0 10| 1 4 3v N+l «A 170 9.0 3.0|13 12 44 S+3 ¢A 510 11.0 1.0
12 3 44 V-3 «J 300 8.0 40|13 12 2v S+2 ¢7 170 9.0 3.0| 3 5 44 N+2 ¢J 480 6.0 6.0
2 4 3s4DV-1 <A 200 60 60| 8 9 3vN= 3 140 60 6.0|11 6 44 N+2 ¢J 480 6.0 6.0
1 9 2+V-1 vA 100 30 90|11 6 2NN= &7 120 40 80|14 7 44 N+2 &7 480 6.0 6.0
14 6 34 V-1 &J 100 30 90| 3 5 INS= *4 90 20 10.0| 1 4 34 N+4 ¢4 260 2.0 10.0
10 5 24 V= &J -110 0.0 120 2 10 2vS-1 »8 -100 0.0 12.0( 2 10 34 N+3 ¢+5 230 0.0 12.0
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